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10.

Answer ALL questions.
PART A — (10 x 2 = 20 marks)
Identify the phases in thé front end and the back end of the compiler.

State the functions of a macroprocessor. Why is it considered as a cousin of the
compiler?

Is the following grammar with productions ambiguous?,

S — aSbS|bSaS|e .

List the properties for a grammar to be parsed using operator precedence
parsing technique. : .

State the functions of a symbo_l table and list the attributes it contains.
Distinguish between static allocation and stack allocation.
What are three address code? Name the types of three address codes.

State the use of a procedure calls in the compiler. How is it related to the
runtime? '

Define basic blocks and flow graphs.

What is code optimization? Give an example for reduction in strength.
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PART B — (5 x 16 = 80 marks)

Explain the various compiler construction tools. - (8)

Construct a non deterministic finite automata for the regular

expression (x + y)(x + y)* xy . Trace for the string w = yyxy. 8)
Or ‘ :

State the role of a lexical analyzer? Explain input buffering with an
example. 8

Explain with a neat sketch the different phases of a compiler for a
simple arithmetic statement. 8)

How does an operator precedence parser work? Use a pre-constructed
operator precedence table to guide the parsing of an input ‘a+b-20’

using operator precedence parser. (16)
Or
(i) What are the different parsing techniques under top down and
bottom up parsing techniques? State their advantage and
disadvantages. , (8
(ii) State the algorithm to eliminate left recursion from a grammar.
Eliminate left recursion for the grammar with production
S — Aalb A AdAd|=. A )
(i) Explain the various source language issues in runtime
environment. : €))
(ii) Compare and contrast the call-by-value, call-by-reference and
copy-Restore with examples. 8)
A Or o
Elaborate on the Access to non local names with more significance to
lexical scope and dynamic Scope. - (16)
(1) What is a three address Statement? Write the quadruples, triples

(ii)

@

(i)

and indirect triples for the following statement.

“lx+y)(r+s)-(x+y+r). ‘ (10)
State the syntax directed translation for the assignment statement.
‘ ()

Or

State and explain the syntax directed translation schemé for the
Case statements. (10)

Explain Intermediate languages? What is the need for Intermediate
languages. , (6)
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Write Short notes on : o
(1) Peep hole optimization (8)

(ii) Register allocation and assignment. - (8)

Or

Discuss in detail the various issues involved in the design of code
optimizers. State and explain the algorithm for a simple code generator.
* (16)
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